Percentages Revision

@D How long will it take to accumulate one million pounds in the following situations?
a An investment of £100 000 at a rate of 12% compound interest.

b An investment of £50 000 at a rate of 16% compound interest.
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Reverse Percentages

Tina’s weekly pay is increased by 5% to £315. What was Tina’s pay before the increase?

The number of workers in a factory fell by 5% to 228. How many workers were there originally?
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If 38% of plastic bottles in a production line are blue and the remaining 7750 plastic bottles are
brown, how many plastic bottles are blue?
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